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QUESTION 1

View the Exhibit.

ewrite action Insert Cert insert http header SSL parameter CLIENT.SSL.CLIENT CERT.SUBSECT

bind 1b wserver lb ¥srv www -policyName Insert_cert policy -pricrity 100 -gotoPriorit aion END -type REQ

certkey clientl

Stetus: Valid, Days to expiration:322
1000onoe

DC=lab, DC=mylab, Ck=mylab-nD-CA
wvalidity
$33:20 2017 cMT
43:20 2018 GMT
icauserfmylab. lab

A Citrix Administrator has configured the commands using the command-line interface. Click on the "Exhibit\\' button to
view the screenshots of the command-line interface. What will be the effect of the rewrite policy, based on the exhibit?

A. HTTP Header "SSL_parameter: icauser@mylab.lab" will be inserted in every RESPONSE.
B. HTTP Header "SSL_parameter: icauser@mylab.lab" will be inserted in every REQUEST.

C. HTTP Header "SSL_parameter: C=IN, ST=KA, O=Mylab, CN=icauser@mylab.lab" will be inserted in every
RESPONSE.

D. HTTP Header "SSL_parameter: C=IN, ST=KA, O=Mylab, CN=icauser@mylab.lab" will be inserted in every
REQUEST.

Correct Answer: D

QUESTION 2

Scenario: A Citrix Administrator manages a NetScaler Gateway with a Standard Platform License, with remote
employees in the environment. The administrator wants to increase employee access by 300 users through the
NetScaler Gateway, using VPN access.

Which license should the administrator recommend purchasing for this environment?

A. NetScaler Upgrade License

B. NetScaler Burst Packs License

C. NetScaler Gateway Universal License

D. NetScaler Gateway Express License
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Correct Answer: C

QUESTION 3

Scenario: A Citrix Administrator has configured the NetScaler as a DNS Proxy Server. The administrator executed the
commands in the screenshot on the NetScaler using the command-line interface.

Click on the "Exhibit\\' button to view the screenshot of the command-line interface.

NCERRCR)

What will be the effect of this configuration?

A. Set TC bit and rcode as NOERROR in the DNS Response from DNS server
B. Set TC bit and rcode as NOERROR in the DNS Request from Client

C. Create a DNS Response with TC bit set and rcode as NOERROR

D. Create a DNS Request with TC bit set and rcode as NOERROR

Correct Answer: D

QUESTION 4

What is the effect of the set gslb parameter ?GSLSvcStateDelayTime 10 command on the Global Server Load
Balancing (GSLB) environment, when Metric Exchange Protocol (MEP) is enabled?

A. The Metric Exchange Protocol (MEP) will be marked as DOWN if the GSLB service has been DOWN for 10
seconds.

B. The Metric Exchange Protocol (MEP) will be marked as DOWN if the GSLB vServer has been DOWN for 10
seconds.

C. The GSLB services will be marked as DOWN, if the Metric Exchange Protocol (MEP) connection has been DOWN
for 10 seconds.

D. The GSLB services will be marked as DOWN if the service has been DOWN for 10 seconds.

Correct Answer: C

QUESTION 5
Which three options are allowed when using Classic policies? (Choose three.)

A. CLIENT
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B. SERVER
C.IP
D.HTTP

E. DNS

F. TCP

Correct Answer: CDE

QUESTION 6

Scenario: A Citrix Administrator is performing a disaster recovery test and decided to fail over the NetScaler high
availability (HA) pair appliances. The administrator noticed that the failover is NOT working as expected in item text, and
the Secondary NetScaler is NOT taking over as Primary. The administrator suspects that networking issues may be
causing the failure.

What could be the cause of this issue with the NetScalers?

A. HA monitoring is enabled on a disabled interface of the Primary Node.

B. The Independent network configuration (INC) mode is enabled on the Primary Node.

C. HA heartbeats are only seen on some enabled interfaces of the Secondary Node.

D. HA monitoring is enabled on an interface of the Secondary Node that shows as ENABLED, DOWN.

Correct Answer: A

QUESTION 7

Which step can a Citrix Administrator take in order to use the default compression policies?
A. Bind the default compression policies to the virtual server.

B. Disable the NetScaler Compression feature at a global level.

C. Select the compression algorithm (gzip/deflate/identity).

D. Enable compression on the associated bound services.

Correct Answer: A

QUESTION 8

Scenario: A Citrix Administrator is troubleshooting a NetScaler issue. The administrator goes to the command line and
from the Shell, tails the ns.log to view the log in real time to find the issue. After a few minutes, the administrator noticed
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that the logs stopped scrolling and the issue was missed.

How can troubleshooting continue using the ns.log?

A. The ns.log needs to be downloaded to the client machine for full viewing.
B. The ns.log service has stopped and needs to be restarted.

C. The ns.log is still running. Press "Enter\\' and the ns.log will resume.

D. The ns.log has reached its 100 KB limit. Press "CTRL+C\\' to stop it from running and issue the command "tail-f
ns.log" to resume.

Correct Answer: A

QUESTION 9

Which log records detailed information such as statistics, metrics and debug information on the NetScaler in a
proprietary binary format?

A. Syslog
B. Nslog

C. Nsconfig
D. Nstrace

Correct Answer: B

QUESTION 10

Scenario: User authentication is failing through the NetScaler. A Citrix Administrator checked the Authentication,
Authorization and Auditing (AAA) policy, action and virtual server and verified that the correct configuration was in place.
The administrator bypassed the NetScaler and the authentication worked.

Which NetScaler utility can the administrator use to troubleshoot the access issue?

A. aaad.debug

B. Dashboard

C. nscon message

D. nslog file

Correct Answer: A

QUESTION 11

Scenario: A Citrix Administrator has configured an HTTP load-balancing virtual server with Least Response Time as the

Latest 1Y0-240 Dumps | 1Y0-240 Study Guide | 1Y0-240 Braindumps 517


https://www.passapply.com/1y0-240.html
https://www.passapply.com/1y0-240.html
https://www.passapply.com/1y0-240.html

VCE & PDF https://www.passapply.com/1y0-240.html
2024 Latest passapply 1Y0-240 PDF and VCE dumps Download

PassApply.com

load-balancing algorithm.

The administrator notices that requests to the virtual server appear to be using the Round Robin load-balancing
algorithm.

What could be causing the virtual server to use Round Robin load-balancing algorithm?

A. The services that are bound to the HTTP virtual server are using the PING monitor.

B. The virtual server is in startup round robin mode.

C. Least Response Time CANNOT be used as a load-balancing algorithm on an HTTP virtual server.
D. The NetScaler configuration has NOT been saved yet.

Correct Answer: B

QUESTION 12

What is the effect of the set csv server vserver-CS-1 -redirectURL http://www.newdomain.com/mysite/ command?
A. If the status of vserver-CS-1 is DOWN, then users will be redirected to http://www.newdomain.com/ mysite/ .

B. All the requests without url path /mysite/ will be redirected to http://www.newdomain.com/mysite/.

C. If the vserver-CS-1 encounters high connection rate, then users will be redirected to http://
www.newdomain.com/mysite/.

D. All the requests to vserver-CS-1will be redirected to http://www.newdomain.com/mysite/.

Correct Answer: D

QUESTION 13

A Citrix Administrator receives complaints from some users that authentication for the NetScaler Gateway site fails,
Which tool can the administrator use to find data regarding time of failure and a list of users facing this issue?

A. HDX Insight

B. Web Insight

C. Security Insight

D. Gateway Insight

Correct Answer: D

QUESTION 14
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Scenario: A Citrix Administrator has a NetScaler SDX with four VPX instances configured. The SDX has a 10GB
bandwidth license that has been configured with dedicated bandwidth of 2GB for each instance. However, the
administrator found that three instances do NOT ever reach the bandwidth limit, while one instance reaches the limit
and needs 1 GB more bandwidth to accommodate increased traffic requests.

What can the administrator change on the instance that requires more bandwidth, to meet traffic requirements?

A. Purchase an SDX license to increase the bandwidth on the instances.

B. Configure burst capacity on the instance adding 1 GB of bandwidth with burst priority O.

C. Configure LA channel to increase the bandwidth.

D. Configure burst capacity of 1 GB with priority 10.

Correct Answer: D

QUESTION 15

Scenario: A Citrix Administrator notices user sessions are disconnecting and reconnecting more often this week than
last week, signaling a problem.

The administrator troubleshoots this issue and prepares to resolve it using persistence. However, the following
consideration apply in the environment:

It is a multi-proxy environment behind the NetScaler.

Use Source IP (USIP) mode is enabled and applied to the services.
The session timeout is very short.

All users connect from the same location.

The administrator can use persistence based on the setting to resolve this issue. (Choose the correct
option to complete the sentence.)

A. Subnet IP

B. HTTP Cookies
C. Proximity

D. SSL Session IDs

Correct Answer: A
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